
JPMorgan Chase 4Q19 
 
The earnings seasons starts well with JPMorgan Chase having the largest annual profit ever 
for a bank in history.  
 
Let’s have a look at the highlights and then, we will go into deeper details.  
 

 
 
These numbers are much better than Wall Street was predicting.  
 

 
 
If we look a little deeper, we can see that all the different segments have been doing great 
except for the falls in loans in the consumer and commercial banking business.  
 

https://www.jpmorganchase.com/corporate/investor-relations/document/26815370-d971-4626-a07c-99bce2f69cdf.pdf
https://finance.yahoo.com/news/jpmorgan-q4-earnings-results-115248422.html


 
 

 
 
Let’s now look at the full results  



 

 
 
The first thing to note is the increase in revenues and net income.  
 
The company was able to improve its business. For example, ROE is up by 2% from 13% to 
15%. This keeps JPMorgan Chase ahead of its competitors.  
 

 
 
Returns on Assets increased as well from 1.24% to 1.33% and once again, JPM is leading.  
 



 
 
ROE and ROA are two of the most important metrics to use to value banks. A bank may have 
trillions of dollars in assets, but they may not always be generating enough profits from 
them. For example, the Industrial and Commercial Bank of China is the largest bank in the 
world by AUM, but they have an ROA of only 1.07%.  
 

 
 
Although, we saw a massive increase in market cap this year, assets grew by only 2%. This is 
already a sign that the stock might be overpriced.  
 
The credit card business has been doing great lately. JPM has taken the advantage of the 
low interest rates to boost its credit card business. The credit card business also helps 
customers get into the JPMorgan Chase ecosystem.  
 
The loan to deposit ratio has fallen from 67% to 61%. The loan to deposit ratio is another 
important number to use to rate the performance of a bank. Loans are assets for banks 



while deposits are liabilities. But the bank may not want to have too much loan in relation 
to deposits as they may have a liquidity problem.  
 

 
 
The real boost to revenues were caused by principle transaction fees.  
 
Let’s have a look at each business segments  
 

 
 
47% of revenues came from consumer and community banking. But this segment has only a 
profit margin of 30% while the Corporate and Investment banking business has a profit 
margin of 32%, commercial banking 46% and AWM 20%.  
 
The overall profit margin is 31% and is the highest among its peers.  
 



 
 
 

 
 
 
The consumer banking business had a good year with an increase in revenues of 7%. It is 
important to note the 63% gain Mortgage fees. Usually this has been a business dominated 
by Well Fargo but JPMorgan Chase has been opening more and more branches to compete 
with Wells Fargo in Central and Western USA.  
 



 
 
Principle Transactions form the corporate and Investment banking business has been the 
single most important contributor to the gains of the company this year.  
 

 
 



 
 
As far as commercial and AWM are concerned, they had an average year.  
 
I will do a more detailed analysis of JPMorgan Chase when they come up with the annual 
report in April along with Jamie Dimon’s letter to shareholders but for today, let’s just have 
a look at the valuations of JPM.  
 
For banks, we don’t usually use the discounted free cash flow method as cash flows don’t 
really make much sense for banks. We instead use discounted net income.  
 
Over the last ten years, net income increased on average by 10% p.a. Can we expect that to 
continue? Of course, not.  
 
They won’t be able to keep increasing their ROA, ROE and profit margin.  
 



 
 
Assets can keep increasing by 2% p.a. over the long-term with the growth of the US 
economy (which usually grows by 2%).   
 
Let’s assume that they can gradually increase their ROA to 1.80% over the next 20 years.  
 
We will use a discount rate of 9%.  
 



 
 
This will give JPMorgan Chase an intrinsic value of about $597 billion. If we take a margin of 
safety of 25%, we have a fair value $447 billion.  
 

 



The bank currently has a market cap of $435 billion, which makes it seem cheap. But is it? 
Will I buy more?  
 
Before we answer this question, let’s assume we are wrong, and that JPMorgan cannot 
grow their ROA further.  
 
Even with an ROA of 1.33% in perpetuity, JPMorgan Chase will still have an intrinsic value of 
over $500 billion.  
 

 
 
If we compare, JPM, with competitors, however, we will see that it is overpriced.  
 



 
 
Some people will argue that there should be a premium on such a stock.  
 
Well, let’s look at historical data. 
 

 
 
This is the highest the PB ratio has been since Jamie Dimon became CEO in December 2005. 
AS for the PE ratio, it has been higher in late 2017.  
 
I am unwilling to invest in a bank with a PB ratio of 1.8 at such a time in the economic cycle. 
Banks are usually the most affected when there is a recession and a bear market. 
 



 
 
 Right now, 6% of my portfolio is in JPMorgan Chase. This is enough to give me exposure to 
the gains, to collect a nice dividend without having to fear a crash if the market tanks.  
 

 
 
The best time to invest in JPM was in 2016. I took that opportunity to invest. Right now, I’m 
just going to hold but if the price ever falls, I’m going to buy.  
 

15th of January 2020  


